SCA

Side Cutter Arbor

@ For JIS side cutter and metal saw.

HSK-AJEIFIC
HSK-T
uTs

Specialized
Machine

Related
Equipment

o L1 30 H1
Cha[énsfﬁrmg T Tr H
ri I 6
— o © il
= . 1 T t
g Lll.] Ct+ D G D+ Ci Gi
— g\t
2 30+~ Hi~
B N B Ha DT
| L | L [
= ] ; r
S - G1 D1 C K1 C1
: | O * e

Yonuy9 o1nepAn

Metric Sizes Unit : Metric

RER T

Cutter dia.

13 | 75 | 20 |[M12X 125 15 3,5,7,8,10,12 17 | 0.7 50
16 | 75 | 26 M14 X 15 16 4 117.2 35,7,8,10,12 13 22 1 09 | 50~63
22 | 75 | 34 M20 X 15 21 6 |23.6/35,7810,12| 18 | 30 4 1.2 | 60~ 125

0790 00113075 BT30 -SCA13 -
0790 00116075| BT30 -SCA16 -75
0790 00122075 BT30 -SCA22 -75

=
Q
B
=
S
a
o)
=
=
S
=

1
2
2
0790 00313060 BT40 -SCA13 -60 1 13 60 20 (M12 X 1.25| 15 — — 35,7,810,12 12 17 1.4 50
0790 00313090 -90 1 13 90 20 |M12 X 1.25| 15 — — 135,7,8,10,12 | 12 17 1.7 50
0790 00316075 BT40 -SCA16 -75 2 16 75 26 M14 X 15| 16 4 |17.2|35,7,8,10,12 | 13 22 1.4 50 ~ 63
0790 00316105 -105 2 16 | 105 | 26 |M14 X 15| 16 4 |17.2 35,7,8,10,12| 13 22 1.6 50 ~ 63
0790 00322075| BT40 -SCA22 -75 2 22 75 34 M20 X 15 21 6 | 23.6/35,78,10,12 18 30 1.7 | 60~ 125
§ 0790 00322120 -120 2 22 1120 | 34 M20 X 15| 21 6 |23.635,78,10,12 18 30 | 2.1 | 60~ 125
5 0790 00327075 BT40 -SCA27 -75 2 27 75 40 M24 X 2 25 7 29 35,7,8,10,12 | 21 32 | 2.0 | 75~ 100
g 0790 00327120 -120 2 27 | 120 | 40 M24 X 2 25 7 29 135,7,8,10,12| 21 32 24 | 75~100
- 0790 00332090 BT40 -SCA32 -90 2 32 90 46 M30 X 2 30 8 34 35,7,810,12 26 41 | 2.6 | 100 ~ 250
= 0790 00513075 BT50 -SCA13 -75 1 13 75 20 |M12 X 1.25| 15 — — 13,5,7,8,10,12 | 12 17 | 4.3 50
E' 0790 00513105 -105 1 13 | 105 | 20 M12 X 1.25 | 15 = — 35,7,810,12 12 17 | 44 50
i 0790 00516090| BT50 -SCA16 -90 2 16 90 26 'M14 X 15| 16 4 |17.2 35,7,8,10,12| 13 22 41 50 ~ 63
0790 00516120 -120 2 16 | 120 26 M14 X 15| 16 4 |17.2 35,7,8,10,12 | 13 22 42 50 ~ 63
§ 0790 00522090| BT50 -SCA22 -90 2 22 90 34 M20 X 15 21 6 | 23.6/35,78,10,12| 18 30 4.4 | 60~125
%‘ 0790 00522135 -135 2 22 1135 | 34 M20X 15| 21 6 | 23.6/3578,10,12 18 30 4.7 | 60~ 125
g 0790 00527090 BT50 -SCA27 -90 2 27 90 40 M24 X 2 25 7 29 35,7,8,10,12| 21 32 | 45 | 75~100
0790 00527135 -135 2 27 | 135 40 M24 X 2 25 7 29 35,7,810,12 21 32 | 49 | 75~ 100
= 0790 00532090| BT50 -SCA32 -90 2 32 90 46 M30 X 2 30 8 34 35,7,810,12 26 41 | 4.9 | 100 ~ 250
§ ; 0790 00532135 -135 2 32 135 | 46 M30 X 2 30 8 34 35,7,810,12 26 41 | 5.7 | 100 ~ 250
g = 0790 00540090 BT50 -SCA40 -90 2 40 90 55 M36 X 3 36 10 | 425 35,7,8,10,12 31 46 | 5.9 | 150 ~ 315
— 0790 00540135 -135 2 40 | 135 | 55 M36 X 3 36 10 | 42,5 35,7,8,10,12 31 46 | 6.7 | 150 ~ 315
i . x ial tom Siz nr t
154 :\;I]grritco(m%t)ntco(m?rz — Il\;:;—::thric 352‘51'4 or Metric x 0.03937 /w Spectal fCus Sizes on reques




Inch Sizes Unit : Metric

Cutter dia.

079001112075 BT30 -SCA12.7 -75 =1 127 | 75 20 MI12X 125 15 35781012 12 |17 10| 50
0790 01115075 BT30 -SCA15.875-75 = 2 | 15875 75 | 26 M14 X 15|16 3.8 17.42 35781012 13 22 12| 50~ 63

0790 01122075 BT30 -SCA22.225 -75 | 2 | 22225 | 75 | 34 M20 X 1.5 21 3.18 23.82 35781012 18 30 15| 60~ 63

0790 01312060 BT40 -SCA127 -60 | 1 | 127 | 60 20 M12X 12515 — — |35781012 12 17 14| 50

0790 01312090 90 1 127 | 90 20 M12X125 15 — | — 35781012 12 17 17| 50

0790 01315075 BT40 -SCA15.875 -75 | 2 | 15875 | 75 | 26 |M14 X 1.5 16 3.18 17.42/357810,12 13 22 14| 50~ 63

0790 01315105 2105 2 | 15875 | 105 26 M14 X 15 16 3.8 17.42 35781012 13 22 15| 50~ 63
079001322075 BT40 -SCA22.225 -75 | 2 | 22225 75 34 M20X 15 21 318 23.82 85781012 18 30 17| 60~63  —
0790 01322120 -120| 2 | 22225 120 34 |M20 X 15 21 318 2382 35781012 18 30 20| 60~63  — -
079001325075 BT40 -SCA254 -75 | 2 | 254 | 75 | 40  M24 X2 |25 6.35|27.78/ 35781012 21 32 20| 75~125  —
0790 01325120 2120 2 | 254 | 120 40 @ M24 X2 |25 635 27.78 35781012 21 32 24| 75~125 Mechine
079001331090 BT40 -SCA3L.75 90 | 2 | 3175 | 90 | 46 | M30X 2 30 7.92 349235781012 26 41 26/100~250
0790 01512075 BT50 -SCA127 -75 | 1 | 127 | 75 20 M12X 12515 — — |35781012 12 17 43| 50 o
0790 01512105 2105 1 | 127 105 20 M12X125 /15 — | — 135781012 12 17 44| 50 Chaniering
0790 01515090 BT50 -SCA15.875-90 = 2 15875 90 | 26 |M14 X 15|16 3.18 17.42 35781012 13 22 4.2| 50~ 63

0790 01515120 2120 2 | 15875 | 120 | 26 M14 X 1.5 16 3.8 17.42 35781012 13 22 4.4| 50~ 63 =
0790 01522090 BT50 -SCA22.225-90 | 2 | 22.225 | 90 | 34 M20 X 1.5 21  3.18 23.82 35781012 18 30 4.4| 60~ 63 z
0790 01522135 135 2 | 22225 | 135 34 M20 X 15 21 3.8 2382 35781012 18 30 4.7| 60~ 63 g
0790 01525090 BT50 -SCA25.4 -90 | 2 | 254 90 40 | M24 X 2 |25 635 27.78/357,810,12 | 21 | 32 45| 75~ 125 -
0790 01525135 4135 2 | 254 135 40  M24X2 |25 635 27.78 35781012 21 32 49| 75~125 o
0790 01531090 BT50 -SCA3L.75 -90 | 2 | 31.75 | 90 46 M30 X 2 30 7.92 34.92 35781012 26 41 4.7|100~ 250 =
0790 01531135 135 2 | 3175 | 135 46  M30X2 30 7.92 34.92 35781012 26 4152|100~ 250 =
0790 01538090 BT50 -SCA38.1 -90 2 381 90 55 | M36X3 |36 952 42.06 35781012 31 46 4.9|150~ 315 _
0790 01538135 135 2 | 381 135 55  M36X3 36 952 4206 35781012 31 46 59|150~ 315

I8pJOH 0487 Y.,

One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included.

Ordering Example

BT30 - SCA 12.7 - 75

Shank size D1 Projection
length (L)

¥anyD alnespAH

RER TN

sony) Buiddey

sloqly

18P|OH uonoung

|00 Buruing

pnIS uonusley

suolsuawiq
ueys jooL

Inch to Metric (mm) — Inch x 25.4 /w Special / Custom Sizes on request
Metric (mm) to Inch — Metric + 25.4 or Metric x 0.03937




HSK-AJEIFIC
HSK-T
uTs

Specialized
Machine

Related
Equipment

Bush &
Chamfering
Drill

onyd Bulin

13p|oH 181100

13p|OH 0197 Y.,

Yonuy9 o1nepAn

RER T

sany) Buidde)

.
c
>
o
=
E
T
=5
=y
@

pnIS uonualRY

suoisuswiqg
yueys jooL

YA

g SCA

Side Cutter Arbor

@ For JIS side cutter and metal saw.

L A8t—H
Hi ’
cl b G
L 1.181 H
0.039

1
-

H2

Hs

é:

Inch Sizes Unit : Inch
h
1900 01412060 CAT40 -SCA12.7 -60 0500 2362 0787 M12X 1250591 — —  on&OBn0MT0 0472 (1(’7-?“65])
1900 01412090 -90 0.500 3.543 0.787 MI12 X 1.25 0.591 — — %éll%%gg%%g 0.472 (107-?“2)
1900 01415075 CATA40 -SCA15.875 -75 0625 2.953 1.024 M14 X 1.5 0.6300.1250.686 5.2 5200 0275 0512 (202'ﬁ$n61)
1900 01415105 -105 0.625 4134 1.024 M14 X 15 063001250686 5o 65050 0512 (202'%63)
1900 01422075 CAT40 -SCA22.225 -75 0.875 2.953 1.339 M20 X 1.5 0.827 0.125 0.938 %1311%%%%1%%17762 0.709 (31(5};3,}1)
1900 01422105 120 0.875 4.724 1.339 M20 X 1.5 0.827 0.1250.938 %:1311%%%%1%";7762 0.709 (3ldr1nsn11)
1900 01425075 CAT40 -SCA25.4 -75 1000 2953 1575 M24X2 098402501004 2% 0000070 0827 (312-?]163)
1900 01425120 -120 1.000 4.724 1.575 M24 X 2 0.984 0.250 1.094 %’;‘1‘,35%%%1%%62 0.827 (312-5,]6%
1900 01431090 CAT40 -SCA31.75 -90 1.250 3543 1.811 M30 X 2 1.1810.312 1.375 %‘_211%’%_%%1%_3177‘; 1.024 (ji%nﬁ)
190001512075 CAT50 -SCA12.7 -75 0500 2953 0787 M12x 1250501 — — (OUROWLOZN o472 D009
1900 01512105 -105 0500 4134 0787 M12X 1250591 — —  OuSOBLOMT0 0472 (f?‘rfr?l)
1900 01515090 CAT50 -SCA15.875 -90 0.625 3.543 1.024 M14 X 1.5 0.630 0.125 0.686 %585%%%1%37762 0512 (gé?nsnfi)
1900 01515120 120 0625 4724 1.024 M14 X 15 0.6300.1250.686 5.2 S0 0275 0512 (5’2'%6”‘2)
1900 01522090 CAT50 -SCA22.225 -90 0.875 3543 1.339 M20 X 15 082701250938 5o &80 025 0.709 (.’él-d%nsr':h)
1900 01522135 -135 0.875 5.315 1.339 M20 X 1.5 0.827 0.125 0.938 %211%%13%1%%62 0.709 (316};3,111)
1900 01525090 CAT50 -SCA25.4 -90 1000 3543 1575 M24 X2 098402501094 o352 000 0270 0827 (312-%6“2)
1900 01525135 -135 1000 5315 1575 M24X2 098402501004 % Q000270 0827 (312'$n6r?1)
1900 01531090 CAT50 -SCA31.75 -90 1250 3543 1.811 M30X 2 1.1810.312 1.375 %élli%gl%%g 1.024 (411'6311;)
1900 01531135 135 1250 5314 1811 M30X2 118103121375 32000270 1024 (jiﬁqlnﬁ)
1900 01538090 CAT50 -SCA38.1 -90 1500 3543 2165 M36X 3 141703751656 5o onon OG5S 1.220 (jéﬁ%)
1900 01538135 -135 1500 5.315 2.165 M36 X 3 1.417 0.375 1.656 %1311%%%%1%%17762 1.220 (jéfnlé)
One clamp nut and spacers (size 0.118, 0.197, 0.276, 0.315, 0.394, 0.472 / one each) are included.
Ordering Example
CAT40 - SCA 12.7 - 60
Shank size D1 Projection
length (L)

Inch to Metric (mm) — Inch x 25.4
Metric (mm) to Inch — Metric + 25.4 or Metric x 0.03937

74

Special / Custom Sizes on request



Unit :

Inch

h 6

01900000413060  CAT40 -SCA13 -60 2.3620.787 M12 X 1.25 0.591 %?1% %13%74 0278 0472 (107%631)
01900000413090 -90 13 35430787 M12 X 1.25 0591 — — %;11%, %E%Z’l 0278 0472 (107'%631)
01900000416075 CAT40 -SCAL6 -75 16  2.9531.024 M14 X 1.5 0.6300.157 0.677 %'éll%’ %.13%1 0275 0512 (Z()é?nerg) i
01900000416105 1105 16  4.1341.024 M14 X 1.5 0.630 0.157 0.677 %%,)11%’%.13%1%377% 0.512 (zoz'?nfsni) &
01900000422075 CAT40 -SCA22 -75 22 2.9531.339 M20 X 1.5 0.827 0.2360.929 %‘éllféy %.13%1 0278 0709 (316%“8;) T
01900000422120 120 22 47241339 M20 X 1.5 0.827 0.236 0.929 %.éll%,%.ls%zi,%i??% 0.709 (316%;3:1) SpM:Zcifd
01900000427075 CAT40 -SCA27 -75 27 29531575 M24 X 2 0.9840.276 1.142 %;11%’ %.13%1%277% 0.827 (?’12'?“6“2) :{!HZE ;.:;
01900000427120 120 27 47241575 M24 X2 0.9840.276 1.142 %éll%’%é%l%%% 0.827 (312'fn6r?1) 1
01900000432090 CAT40 -SCA32 -90 32 35431811 M30 X 2 1.1810.3151.339 %1%11%,%.13%1%3177% 1024 411'%1;) ;-§
01900000513075 CAT50 -SCA13 -75 13 2.9530.787 M12 X 1.25 0591 — — %'.311%’%.13%1”%317762’ 0.472 (107'?:31) i
01900000513105 105 13 41340787 M12 X 1.25 0591 — — %'.?1%,%.13%1’,%3177% 0.472 (107'?‘16% gg
01900000516090 CAT50 -SCA16 -90 16 3.5431.024 M14 X 1.5 0.630 0.157 0.677 %éll%’%_g%l%%% 0.512 (;éﬁqﬁr?]) z
01900000516120 120 16  4.7241.024 M14 X 1.5 0.630 0.157 0.677 %,211%,%,%%1’,%,2477% 0512 (202'%62) §
01900000522090 CAT50 -SCA22 -90 22 3.5431.339 M20 X 1.5 0.827 0.2360.929 %‘_?185*’%_13%1%_247762* 0.709 (316?”1]) :i
01900000522135 135 22 5.3151.339 M20 X 1.5 0.827 0.236 0.929 %:%11%,%.%%1’,%37762’ 0.709 (316%118:1) %
01900000527090 CAT50 -SCA27 -90 27 35431575 M24 X 2 0.984 0.276 1.142 %:%%,%.13%1’,%.2477% 0.827 (312}2n6r?1) -
01900000527135 135 27 53151575 M24 X 2 0.9840.276 1.142 %‘_?185*’%_13%1%%62* 0.827 (312'5116”2) %
01900000532090 CAT50 -SCA32 -90 32 35431811 M30 X 2 1.181 0.315 1.339 %.?1%,%.%%74',%.%177% 1024 411";]1:]) -
01900000532135 135 32 53141811 M30 X 2 1.1810.315 1.339 %‘_?185*'%_%%1"%517762' 1024 411'%1;) Eé
01900000540090 CAT50 -SCA40 -90 40 35432165 M36 X 3 1.4170.394 1.673 %.?1%" %.%%1 0278 1.220 ( 416%%) -
01900000540135 135 40 53152.165 M36 X 3 1.4170.394 1.673 %‘.?1%’,%.13991’,%37762’ 1220 4léﬁ11é) §
One clamp nut and spacers (size 0.118, 0.197, 0.276, 0.315, 0.394, 0.472 / one each) are included.

Ordering Example §~’

CAT40 - SCA 13 - 60 :

Shank size D1 Projection _

length (L)

pnis uonuaiay

suolsuawiq
ueys jooL

Inch to Metric (mm) — Inch x 25.4
Metric (mm) to Inch — Metric + 25.4 or Metric x 0.03937

Special / Custom Sizes on request

74




BT
CAT
AHO
HSK-T
uTs

Specialized
Machine

Related
Equipment

Bush &
Chamfering
Drill

onyd Bulin

13p|oH 181100

13p|OH 0197 Y.,

Yonuy9 o1nepAn

RER T

sany) Buidde)

.
c
>
o
=
E
T
=5
=y
@

O'MSH 4'MSH INSH

suoisuswiqg
yueys 0oL

SCA

Side Cutter Arbor

@ For JIS side cutter and metal saw.

Typel Coolant tube

L1 30 Hi~]
I
—t |
— -Ci1 = G1 D1
—J T |
I
L1 30—==H1~
1= 4
i
/ T
1 R, S
i = L ¢
\
S
@ Coolant tube is included.

Hs -

T—er o
L E )

1 1

L el b
K1 Hz 2 e

N 4

| | ¢ ¢ G1

Metric Sizes Unit : Metric

Code

L1

(@

Cutting dia.
Example

5540 13013075 HSKA40A -SCA13 -75 1 13 75120 M12X1.25 1 3,5,7,8,10,12 12 | 17 50
5540 13016075 = HSK40A -SCA16 -75 2 16 75 26 M14 X 15 16 4 172 3,5,7,8,10,12 13 22 50 ~ 63
5540 13022075 | HSK40A -SCA22 -75 2 22 75134 M20X 15 21 6 | 23.6 35,7,810,12 18 30 60 ~ 125
5540 13112075 = HSK40A -SCA12.7 -75 1 12.7 75 20 M12X1.25 15 — — 35,7,8,10,12 12 17 50
5540 13115075 | HSK40A -SCA15.875 -75 2 15.875 75 26 M14 X 1.5| 16 |3.18| 17.42 3,5,7,8,10,12| 13 | 22 50 ~ 63
5540 13122075 HSKA40A -SCA22.225 -75 2 22225 75 34 M20 X 1.5 21 3.18 23.82 3,5,7,8,10,12| 18 30 60 ~ 125
5540 14013075 | HSK50A -SCA13 -75 1 13 75 20 M12 X 1.25 15| — - 3,5,7,8,10,12 12 17 50
5540 14016075 HSK50A -SCA16 -75 2 16 75 26 M14 X 15 16| 4 17.2 3,5,7,8,10,12 13 22 50 ~ 63
5540 14022075 HSK50A -SCA22 -75 2 22 75|34 M20 X 15/ 21 6 | 236 357,810,12 18 30 1.2| 60~ 125
5540 14112075 | HSK50A -SCA12.7 -75 1 127 7520 M12X 1.25 15 — - 135,7,8,10,12 12 17 50
5540 14115075 | HSK50A -SCA15.875 -75 2 15875 75 | 26 M14 X 1.5 16 3.18| 17.42 3,5,7,8,10,12 13 22 50 ~ 63
5540 14122075 HSK50A -SCA22.225 -75 2 22225 75 34 M20 X 1.5 21 3.18 23.82 3,5,7,8,10,12 18 30 60 ~ 125
5540 15013060 HSK63A -SCA13 -60 1 13 60 20 M12 X 1.25 15 -— - 13,5,7,8,10,12 12 | 17 1.0 50
5540 15013090 -90 1 13 90 20 M12 X 1.25 15 — - 35,7,8,10,12 12 17 1.0 50
5540 15016075 HSK63A -SCA16 -75 2 16 75|26 M14 X 15|16 4 | 17.2 35,7,8,10,12 13 | 22 14| 50~63
5540 15016105 -105 2 16 [105 26 M14 X 15 16 4 17.2 3,5,7,8,10,12 13 22 15| 50~ 63
5540 15022075 | HSK63A -SCA22 -75 2 22 75134 M20X 15 21 6 @ 236 35,7,8,10,12 18 30 1.8| 60~ 125
5540 15022120 -120 2 22 120 34 M20X 15 21 6 @ 23.6 35,7,810,12/ 18 30 1.8| 60~ 125
5540 15027075 HSK63A -SCA27 -75 2 27 75140 M24X2 25 7 29 /3,5,7,8,10,12/ 21 | 32 | 2.0| 75~ 100
5540 15027120 -120 2 27 120 40 M24 X2 25 7 29 35,7,8,10,12 21 32 24| 75~ 100
5540 15032090 | HSK63A -SCA32 -90 2 32 90 46 M30X2 30 8 34 35,7,8,10,12 26 41  2.4| 100 ~ 250
5540 17013075 HSK100A-SCA13 -75 1 13 75 20 M12 X 1.25 15 — — 35,7,8,10,12 12 17 4.3 50
5540 17013105 -105 1 13 105 20 M12 X 1.25/ 15| — - 13,5,7,8,10,12 12 17 4.4 50
5540 17016090 HSK100A-SCA16 -90 2 16 90 26 M14 X 15 16 4 @ 17.2 35,7,8,10,12 13 22 42| 50~ 63
5540 17016120 -120 2 16 120 26 M14 X 15 16 4 | 17.2 3,5,7,8,10,12 13 22 4.4| 50~ 63
5540 17022090 HSK100A-SCA22 -90 2 22 90 34 M20X 15 21 6 | 236 35,78,10,12 18 30 4.4| 60~ 125
5540 17022135 -135 2 22 |135/ 34 M20X 15 21 6 | 23.6 3,5,7,8,10,12| 18 30 4.7| 60~ 125
5540 17027090 HSK100A-SCA27 -90 2 27 90 40 M24 X2 25| 7 29 3,5,7,8,10,12 21 32 45| 75~ 100
5540 17027135 -135 2 27 1135 40 M24X2 25 7 29 |3,5,7,8,10,12/ 21 | 32 | 49| 75~ 100
5540 17032090 HSK100A-SCA32 -90 2 32 90 46 M30X2 30 8 34 3,5,7,8,10,12 26 41 | 4.7 | 100 ~ 250
5540 17032135 -135 2 32 |135/46 M30X2 30 8 34 |3,5,7,8,10,12 26 | 41 | 5.2 | 100 ~ 250
5540 17040090 HSK100A-SCA40 -90 2 40 90 55 M36X3 36| 10 425 35,7,8,10,12 31 46 4.9| 150 ~ 315
5540 17040135 -135 2 40 135/ 55 M36 X3 36 10 425 35,7,8,10,12 31 46 5.9| 150~ 315
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included.
Ordering Example
HSK40A - SCA 13 - 75
Shank size D1 Projection
length (L)

350

Inch to Metric (mm) — Inch x 25.4
Metric (mm) to Inch — Metric + 25.4 or Metric x 0.03937

74

Special / Custom Sizes on request



